Systematic errors

Method Related terms Total or p.t.p. Estimate, %
2016/2017 cross-section ratio EBH/E Ty total 15
MC vs data tracking efficiency EBH/E Ty total 17
TCS cross-section contribution OBH total 8

p' contribution: 1.2 — 2.0 vs 2 — 2.5 BH range Nppy total 6
varying fit method in J/¢ peak fitting N p.t.p. included
varying BH ranges Ny p.t.p. included
varving J /v t-slope E /b p.t.p included
varying J/v¢ E. dependence E /b p.t.p included
varying cuts in BH yield extraction Ny p.t.p. included
total 25

TABLE VIII: Systematic errors
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